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Problem quickname: 8601

)

Fill in the missing numbers.

a) 861 — 50 = 811 b) 860 — 40 = 820
d) 395 — 90 = 305 e) 7167 — 50 = 717
g) 621 — 20 = 601 h) 393 — 70 = 323
j) 756 — 10 = 746

2)

Fill in the missing numbers.

a) 5405 — 200 = 5205
d) 4629 — 500 = 4129
g) 8820 — 600 = 8220
j) 4866 — 300 = 4566

3)
Fill in the missing numbers.

a) 5727 — 1 = 5726 b) 3859 — 4 = 3855
d) 9794 — 3 = 9791 e) 2439 — 9 = 2430
g) 6192 — 2 = 6190 h) 2917 — 7 = 2910
i) 4585 — 1 = 4584

4)
Fill in the missing numbers.

a) 7380 — 80 = 7300
d) 5235 — 20 = 5215
g) 7165 — 50 = 7115
i) 5794 — 90 = 5704

Good Luck!

b) 5887 — 70 = 5817
e) 7681 — 70 = 7611
h) 9294 — 90 = 9204
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b) 2831 — 700 = 2131
e) 8621 — 400 = 8221 f)
h) 4836 — 700 = 4136 i)
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¢) 878 — 70 = 808
f) 283 — 70 = 213
i) 562 — 40 = 522

¢) 3412 — 400 = 3012
8688 — 400 = 8288
6974 — 600 = 6374

¢) 9818 — 6 = 9812
£) 7415 — 3 = 7412
i) 7504 — 4 = 7500

c) 3283 — 70 = 3213
f) 4958 — 40 = 4918
i) 4284 — 20 = 4264
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